FHAFEE FRIEETEHAERIF) ~Bheg~
47 5H 6H 7R 8H 9H
H H H
Bl 7% B 7% |B T3F Bl 7% Bl 7% |B T3F

1] B X 1 |& |PEERES | A PN EE ] 1
2| A X 2 |x PN o ggggpﬁm 2
31 H X |FEEZA % [PEERER |3 |H 7K T |EEE 3
4| R K[#EYDHE x 4| R |EESR ZN =] 4
5|k A [SELDAE A 5| K = A [faERite 5
6 | K |IBEXAZEK | & |REHM1 Z8% 6 | K t K 6
TIK(ERREROD | £ X 71K H 7K 7
8 | & = 7K 8 | & X 8
9 |z zgﬁgfz *x 9 |x X & 9
10| B X |REEARI3 & [GremBazcsz 40| B K [xmkE | L |REBRTE | 10
n| A [E2EEEM 1k + 11| A8 * lwos B 11
12| & K [ZRFHEA = 12| K % |FKREAKA 12
13| K & 13| K [ERB#HEO | £ K 13
14K PEERESR | L |[PEKXES X 14| K (ERE=2Q | B K 14
15| & | [BEAEET | 15| & |BARESD | g leppmn |k [2RA0R2 |45
16| £ A |Z&= x 16| £ K |ERERE & 16
1718 PN = 17|18 K d 17
18| A |MeZEEMRF | K x 18| A [BDA xR H 18
19| K |64 x =| 19| X [PTARAKEE | £ [BEHES RE eA0)=! 19
20| k o 20 | K [#&xEHK o K 20
21 | K |[Ms#m * %ﬁm"ﬁ%% K 21| K g%ﬁ*ﬁaﬂz{@ﬁﬁ =| X 21
22| & (BXarTakssiE] g X 22| & x 22
23| £ A x 23| & PN £ |MomDB 23
24| H X i 24| H 7k * 24
25| A 7K d 25| A K H 25
26 | & * = 26 | 2 ?iﬁ#ﬁﬂﬂzﬂ%.‘ﬁ% 26
27] K [ZR = A (937 27 [ K * X 27
28| K x K |BREEOD 28| K H 7K 28
29| £ |BFDH B K(BREZEQ |29|& A ¥N 29
] A A 30| £ KIPTAERIRE | & 30

X 31| B K 31




